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PART - A, {10 x 2 = 2A Nlarks}
Answer ALL Questions

1. Define Kernel.

2. Det-ine Cache memory.
3. 'frhat is meant by context switehing?

4. List the necessary conditions for deadlock.

5" Diffbrentiate internal and extel-nal fragmentation.

6. What are overlays? Compare swapping and ove.rlays.
'i. Ddfine seek time and latency time.

8. What are the advantages of Linked atrlocation?

9. What is the responsibiliry of kernel in Linux operating system?

10. Which layer of iOS contains fundamentai system serv-ices for apps?

PART - B (5 x 13 : 65 N{arks)
Answer ALL Questions

t l. a) Explain Operaiing System Structure and components.
OR

b) Sketch the structure of Direct Memor5r Access and explain in detail. t3'K2'cot

\2. a) Explaiu the FCFS and Round
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lJ.

14.

t5.

b) Expiain Deadlock detection (Eanker's Algorithm) with example.

a) Explain FIF0, optimal and LRU page replacernent algorithrns with an
example referenee strings. N{ention the merits and demerits of each
of the above algoritirms.

OR
b) Explain about File System tulounting in detail.

a) Explain the diflerent disk scheduling algorithms with examples.
OR

b) Write short notes on fiie protection and sharing.

a) Explain the Linked list and indexed file aliocation methods with neat
diagram.

OR
b) Write aberut any one Mobile OS in detail.

PART - C (1 x 15: 15 N{arks}

a) Consider the following snapshot of a system
Allocation M*r .Available

ABC ABC ABC
Po 010 753 332
P, 200 322

';, i\i ii',
P, AA2 433

(i) What is the content of matrix Need?
(ii) Is the system in a safe state?

(iii) Ifa request from process P1 arrives for (1,2,1) can the request be
granted irnmediatel3,?

OR
b) Given memory pafiitions of 100K8, 500K8. Z00KB, 300K8 and

600I(B(in order), how would each of tho first-fit, best-fit and worst-
tit algorithms place processes of212KB,417KB, t2KB and
426K8(in order)? Which algorithm makes the rnost efficient use of
mernory?
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